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SUHMSTUESAE A 2,370,113 2,088,269 281,844
HEds & HMSAE &5 24 80,292 72,305 7,987
H=IEIS(MESHEIS) 80,292 72,305 7,987
HsdEIS 80,292 72,305 7,987
201 Let24dy] 1,292 1,205 87
01 At 2teltl 1,292 1,205 87
O FUss2=M= 1,292,000& 1,292
307 glz2tol & 71,000 71,100 A 100
02 RIZHE A E X 71,000 71,100 A 100
O sulsg ¢ 2 sd&Edd ¢ Had(x,
=,1) 14,000,000 14,000
O daisads XN& 15,000, 000& 15,000
O M=s3, 4z AE=E 23|
1,000,000& »12& 12,000
O ZeIHM=3 ARIE &3l
1,000,000& »12& 12,000
O 2&sls dNEdRIEs HUNM=2E
1,500,000+ 12& 18,000
801 GBIl 8,000 0 8,000
01 ollgl8l 8,000 0 8,000
O dEN=sg4dsXd 8,000,000 8,000
HRES(2HMSEE A L) 2,289,821 2,015,964 273,857
BEIE(RUMSHAEMG L) (MSEEIS) 2,289,821 2,015,964 273,857
HXS(HMsHEIZ) 2,289,821 2,015,964 273,857
602 G Xl =2 2,289,821 2,015,964 273,857
01 0IXI 3 2,289,821 2,015,964 273,857
O WXl= 2,289,821,000& 2,289,821




